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Part A

Section Id : 686340369
Section Number : 1
Section type : Online
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Number of Questions : 21
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Section Marks : 100
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Question Id : 68634018635 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634018636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SSERit ke oo RS
1. 39 fgd & g vdeg vig
2. 3N P Rd & forg wqdur vig
3. URGR & g §H4u Yig
1. TR A o & g wwdor amg

Options :

68634073601. 1
68634073602. 2
68634073603. 3
68634073604. 4

Question Number : 2 Question Id : 68634018637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR SAaRUl &1 3rad YN 5
1. IRATar-ud
. Hdigd &1 41
RSN
IRCIGERNGE]
Options :
68634073605. 1
68634073606. 2

68634073607. 3
68634073608. 4

[

L]

Question Number : 3 Question Id : 68634018638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Od® &1 [ddd § -

1. g0
U]
. qq

4. Siifdd

| )

L]

Options :

68634073609. 1
68634073610. 2
68634073611. 3
68634073612. 4

Question Number : 4 Question Id : 68634018639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Wil U Wi 9g B bl Bl 82
1. QAT 1
 HIqYfT Bl
RENNIET]

| )

[#5]

=

IR T 5l

Options :



68634073613. 1
68634073614. 2
68634073615. 3
68634073616. 4

Question Number : 5 Question Id : 68634018640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad s/ &1 yge 4T Y a1egf &1 HHFTYR gy

A, TSR 55T B U WIaT §

B. o S o1 Sty B

C. Ol Pt 7 bl SR A I FRIE S

D. Y1 TREAT 3R droril ¥ &= % TSI T Bl
E. %191 & gRI 81 SiiaT gauT 78 &dl &

A feu 7Y fawedt 7 ¥ Uel ST o1 907 S -

1.C,A.B, D, E

[ ]

AR DUE
3.B.A.D.C.E
4. D, E.A B, C

Options :

68634073617. 1
68634073618. 2
68634073619. 3
68634073620. 4

Question Id : 68634018635 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634018636 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SSERit ke oo RS
1. 39 fgd & g vdeg vig
2. 3N P Rd & forg wqdur vig
3. URGR & g §H4u Yig
1. TR A o & g wwdor amg

Options :

68634073601. 1
68634073602. 2
68634073603. 3
68634073604. 4

Question Number : 2 Question Id : 68634018637 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR SAaRUl &1 3rad YN 5
1. IRATar-ud
. Hdigd &1 41
RSN
IRCIGERNGE]
Options :
68634073605. 1
68634073606. 2

68634073607. 3
68634073608. 4

[

L]

Question Number : 3 Question Id : 68634018638 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Od® &1 [ddd § -

1. g0
U]
. qq

4. Siifdd

| )

L]

Options :

68634073609. 1
68634073610. 2
68634073611. 3
68634073612. 4

Question Number : 4 Question Id : 68634018639 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Wil U Wi 9g B bl Bl 82
1. QAT 1
 HIqYfT Bl
RENNIET]

| )

[#5]

=

IR T 5l

Options :



68634073613. 1
68634073614. 2
68634073615. 3
68634073616. 4

Question Number : 5 Question Id : 68634018640 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad s/ &1 yge 4T Y a1egf &1 HHFTYR gy

A, TSR 55T B U WIaT §

B. o S o1 Sty B

C. Ol Pt 7 bl SR A I FRIE S

D. Y1 TREAT 3R droril ¥ &= % TSI T Bl
E. %191 & gRI 81 SiiaT gauT 78 &dl &

A feu 7Y fawedt 7 ¥ Uel ST o1 907 S -

1.C,A.B, D, E

[ ]

AR DUE
3.B.A.D.C.E
4. D, E.A B, C

Options :

68634073617. 1
68634073618. 2
68634073619. 3
68634073620. 4

Sub-Section Number : 2
Sub-Section Id : 686340618
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634018641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- Y B YaT 4 fpga fae glare 2

. {14 &I AFdd B

—

| )

A AR ST g P
. G Bl
4. 51 3R Y PT

[#%]

Options :



68634073621. 1
68634073622. 2
68634073623. 3
68634073624. 4

Question Number : 6 Question Id : 68634018641 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- Y B YaT 4 fpga fae glare 2

1. ATFd @I AFTAl ®I

| )

A AR ST g P
3. G Bl
39 SR A &

=

Options :

68634073621. 1
68634073622. 2
68634073623. 3
68634073624. 4

Question Number : 7 Question Id : 68634018642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FafcEd o ga-ea &1 S1aRa® U 61 ¢ -

A 3exg
B. Odl

C. AdpHdgdl
D. Hevid
E. Il

[al

= fu e fdaredl | O Ul 3R &1 944 Sl

1. $ad B
2.%ad C
3. BAd A
4. %Ad D

Options :

68634073625. 1

68634073626. 2

68634073627. 3
68634073628. 4




Question Number : 7 Question Id : 68634018642 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[afeREad o uA-cig= &1 31awae® 0 6l ¢ -

A 3exg
B. Odl

C. AdpHdgdl
D. Hevid
E. Il

[al

= fu e fdaredl | O Ul 3R &1 944 Sl

1. $ad B
2.%ad C
3. BAd A
4. %Ad D

Options :

68634073625. 1

68634073626. 2

68634073627. 3
68634073628. 4

Question Number : 8 Question Id : 68634018643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
%A1 BIEE] S8HI & AU Uel dlobliad g -
1. 3 & ¢ IR fahH I
2. 3 & T, el & &M
3. 0% 3[R, 91 1R
4. 71 3R Yo-do

Options :

68634073629. 1
68634073630. 2
68634073631. 3
68634073632. 4

Question Number : 8 Question Id : 68634018643 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
%A1 BIEE] S8HI & AU Uel dlobliad g -
1. 3 & ¢ IR fahH I
2. HTH & HTH, Toferdl & gH
3. 0% 3[R, 91 1R
4. 71 3R Yo-do

Options :

68634073629. 1
68634073630. 2
68634073631. 3
68634073632. 4

Question Number : 9 Question Id : 68634018644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafea 5 9 sHYRyT 999 HT 360 6 & ;

p i

Options :

68634073633. 1
68634073634. 2
68634073635. 3
68634073636. 4

Question Number : 9 Question Id : 68634018644 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad § ¥ YRy 999 &1 3SR el © ;

p i



Options :

68634073633. 1
68634073634. 2
68634073635. 3
68634073636. 4

Question Number : 10 Question Id : 68634018645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
féd. Herufd Hiax am|
Had Hid gHd gad ||
SRl Ufkiail H PR © :

1. SIUH STBHR

2. QH® AHABR

3 3 ;
@ :

Options :

68634073637. 1

68634073638. 2

68634073639. 3
68634073640. 4

Question Number : 10 Question Id : 68634018645 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfed, Aedfd AR m|
dad Gidd god g | |
SRl ufgasi ¥ SeieR © -

1. I HEDHR

2. UH® DR

3. 909 PR
" .

Options :

68634073637. 1
68634073638. 2
68634073639. 3



68634073640. 4

Question Number : 11 Question Id : 68634018646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 AP qUT 5 TSIDU U Brd B 8 1 F T HR ADhd § | 7 A5 50 H1d ol 4 faAT & A %
IoHd & | B oI 38l &4 § gura $34 & for fooa- asfadl ©f sravgsdr g

1. 940

|

. 280
3. 560
4.412

Options :

68634073641. 1
68634073642. 2
68634073643. 3
68634073644. 4

Question Number : 11 Question Id : 68634018646 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 AP qUT 5 TSIDU U Brd B 8 1 F T HR ADhd § | 7 A5 50 H1d ol 4 faAT & A %
IoHd & | B oI 38l &4 § gura $34 & for fooa- asfadl ©f sravgsdr g

1. 940

|

. 280
3. 560
4.412

Options :

68634073641. 1
68634073642. 2
68634073643. 3
68634073644. 4

Question Number : 12 Question Id : 68634018647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



156 %3640% G|

i | oo

1.152.6

| )

. 76.8

4. 54.63

Options :

68634073645. 1
68634073646. 2
68634073647. 3
68634073648. 4

Question Number : 12 Question Id : 68634018647 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

156 % 18 % 40% @15 = ?
39 g
1.152.6
2.76.8
3.384
4.54.63

Options :

68634073645. 1
68634073646. 2
68634073647. 3
68634073648. 4

Question Number : 13 Question Id : 68634018648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&R ISR TS5 &1 895 92 1 m? BLal t FTAFG :

4, 22m

Options :

68634073649. 1
68634073650. 2
68634073651. 3
68634073652. 4

Question Number : 13 Question Id : 68634018648 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y& RId JAIBR TS5 &1 840 92 xm? GLal ¢ PIAF G :

4. 22m

Options :

68634073649. 1
68634073650. 2
68634073651. 3
68634073652. 4



Question Number : 14 Question Id : 68634018649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

108% 104" _
325 R

1.3.26

| ]

=328
3.3.53
4.3-62
Options :
68634073653. 1
68634073654. 2

68634073655.3
68634073656. 4

Question Number : 14 Question Id : 68634018649 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
108" —104° _ :
32% -28°

1.3.26

| ]

.3-29
3.3.53
4.3.62

Options :

68634073653. 1
68634073654. 2
68634073655. 3
68634073656. 4

Question Number : 15 Question Id : 68634018650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 g goft 1.2.3.5.7 & YYT 50 UG BT AT &

[
L
=

4. 100

Options :

68634073657. 1
68634073658. 2
68634073659. 3
68634073660. 4

Question Number : 15 Question Id : 68634018650 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g guft 1.2.3.5.7 FUYF 50 UG BT 3

1.45

b2
L]
=

4. 100

Options :

68634073657. 1
68634073658. 2
68634073659. 3
68634073660. 4

Question Number : 16 Question Id : 68634018651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t 1S g & srTelt T o It st 2

27,64, 125, 216, 343,

1.416

[ ]
L]
—
| )

3. 686
4, 559

Options :



68634073661. 1
68634073662. 2
68634073663. 3
68634073664. 4

Question Number : 16 Question Id : 68634018651 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t 1S g & srTelt T o It st 2

27,64, 125, 216, 343,

1.416

[ ]
L]
—
| )

3. 686
4, 559

Options :

68634073661. 1
68634073662. 2
68634073663. 3
68634073664. 4

Question Number : 17 Question Id : 68634018652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy . e O 9 5y fSew ¥ saffda g -

vy =

[

Options :

68634073665. 1
68634073666. 2
68634073667. 3
68634073668. 4

Question Number : 17 Question Id : 68634018652 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy . e O 9 5y fSew ¥ saffda g -

vy =

2

(%]

Options :

68634073665. 1
68634073666. 2
68634073667. 3
68634073668. 4

Question Number : 18 Question Id : 68634018653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BLOCKED &1 §1a¥ YOLXPVW ¥ §. 81% 33! HBR OZFMXS BT Ta=] A BI |
1. LAUNCH
2. DEBATE
3. RESULT

4. LABOUR

Options :

68634073669. 1
68634073670. 2
68634073671. 3
68634073672. 4



Question Number : 18 Question Id : 68634018653 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BLOCKED ] Y YOLXPVW ¥ B, 319 I UPR OZFMXS BT Tra BT |

1. LAUNCH

|

. DEBATE
3. RESULT
4. LABOUR
Options :
68634073669. 1
68634073670. 2

68634073671. 3
68634073672. 4

Question Number : 19 Question Id : 68634018654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH ASH| B SR SR Hd GU 3G - gl "U8 ASHI UL [Udl &I Ueald! S &1 Gl §1" 3195 I
Tdl & 1Y 3 do ! &l ol 95w § 2

LA
Tl
3T

4. dg-

[

L]

Options :

68634073673. 1
68634073674. 2
68634073675. 3
68634073676. 4

Question Number : 19 Question Id : 68634018654 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UF TSP B AR SR T §U 3G - BT "T8 TSB! 1 U] & UHald! S B Gl g1 315 B
Ul & 1Y 39 To®! &1 ol GrEH € 2

el

2. HIdT
. 37et

4. dg-

L]

Options :

68634073673. 1
68634073674. 2
68634073675. 3
68634073676. 4

Question Number : 20 Question Id : 68634018655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AB.C.D.E.F 3R G U% Wgad URAR & Id ¥a ¢ | 3T 70 916 & YR W 10 SIWE 6 B FTE
& 1Y T IR 8 2

A. U IRGR 7 g farfed dudt &

B. G U TJiguil § 3R 39 Uid abid §

C.BHIUdl C 8. AT AT IR G DI UG T |

D.D. C & TR, TF SIaex 3R E &1 fUdl. 1@ MR §
EFPIHRATIRBBITAS

A fau U fom eyl O 9 T8l 3R &1 99 iy ;

1. dg
2. 3Ppd
3. i
4,41

Options :

68634073677. 1
68634073678. 2
68634073679. 3
68634073680. 4

Question Number : 20 Question Id : 68634018655 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AB.C.D.E.F 3R G U% Wgad URAR & Id ¥a ¢ | 3T 70 916 & YR W 10 SIWE 6 B FTE
& 1Y T IR 8 2

A. U IRGR 7 g farfed dudt &

B. G U TJigUfl § 3fR 39 Uid 9dbid ©

C.BHI Ul C 8. AT AMEAI R G DI O g |

D. D. C & TR, TP SIex 3R E F1 fUdl, T W §
EFPIUEATIRBIIHES

i faU 77U faw eyl O 9 T8l ST &1 99 By ;

1. dg-
2. 3{pd
3. oM
4. Y%
Options :
68634073677. 1
68634073678. 2

68634073679. 3
68634073680. 4

Question Number : 21 Question Id : 68634018656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T [P Slfa- aTel WyH YR S 82
1. Hio dfo T
o &
I 1Y R
SRR gty
Options :
68634073681. 1
68634073682. 2

68634073683. 3
68634073684. 4

[

L]

=S

Question Number : 21 Question Id : 68634018656 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073681. 1

68634073682. 2

68634073683. 3
68634073684. 4
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Question Number : 22 Question Id : 68634018657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1960 H OPEC TRI1US o] & UgdH BHIfuig ;

A PR

B. 5

C. X®

D. $ad

E. U&hdl 3Rd
F. d-Io[udl

= fau U faaredl | O Ul 3R &1 994 Sl

1. $AAB.C.D.ETF
2. PAAA.B.C.DTE
3. $ddA.B.D.EQF

4. PAAA.C.D.ETF

Options :

68634073685. 1
68634073686. 2
68634073687. 3
68634073688. 4

Question Number : 22 Question Id : 68634018657 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1960 H OPEC TRI1US o] & UgdH BHIfuig ;

A PR

B. 33

C. X®

D. $ad

E. O&hal 3RE
F. a-To[Uel

e fou v gt § 9 981 9k &1 997 Sifer -

1. $adB.C.D.ETF
2. AT A.B.C.DTE
3. Pd0A.B.D.ETF
4. HAAA.C.D.ETF

Options :

68634073685. 1

68634073686. 2

68634073687. 3
68634073688. 4

Question Number : 23 Question Id : 68634018658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHAIUNE TE ST °
1. dgaRT g &I
 damg
Qe

4. 1YY

| )

L

Options :

68634073689. 1
68634073690. 2
68634073691. 3
68634073692. 4

Question Number : 23 Question Id : 68634018658 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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dang
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Options :

68634073689. 1
68634073690. 2
68634073691. 3
68634073692. 4

Question Number : 24 Question Id : 68634018659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIeR 1 R fooan man g -
1. %fires faare &1 wmsil, FHare ok sramal & & wE dare
fafie smigl SR 98 =il & di faaral o1 gogiidl
3. 50 1 AETHRYL, Syl BUTHR off +ft a1 (vIga) &
4. TF Y & AR 15 &1 b

[ )

Options :

68634073693. 1
68634073694. 2
68634073695. 3
68634073696. 4

Question Number : 24 Question Id : 68634018659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR D1 GRUI foar mar g -
1. e faaTe 1 i, Faie SR Sran & &9 ®F ddl e
falim gl 3R 98 Tl & 49 [are! &1 w5
3. Y HT @SN, 31yl HUHR S o a0 (vgw) &
4. TP S & AR 8F &1 G

| )

Options :



68634073693. 1
68634073694. 2
68634073695. 3
68634073696. 4

Question Number : 25 Question Id : 68634018660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2023 DI 79 H 9 by sFaRiyla a¥ & U & FEI S E1 6 2
1, 9154 W
HIET 3T
gl =
4. ad faor
Options :
68634073697. 1
68634073698. 2

68634073699. 3
68634073700. 4

| )
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Question Number : 25 Question Id : 68634018660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2023 DI 79 H 9 by sFaRiyla a¥ & U & FEI S E1 6 2
1, 9154 W
HIET 3T
gl =
4. ad faor
Options :
68634073697. 1
68634073698. 2

68634073699. 3
68634073700. 4

| )

[#5]

Part B: Hospital Management

Section Id : 686340370
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340619
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634018661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Burden of disease is given by :
1. Crude death rate
2. Incidence rate
3. Cause specific death rate
4. Proportional mortality rate
Options :
68634073701. 1
68634073702. 2

68634073703. 3
68634073704. 4

Question Number : 26 Question Id : 68634018661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M ST YR a1 (da) fGarwrar g -

1. HId TG SR NI

| )

SIS (3HTUAH) DI R ERT

[#5]

PR [GUY G RGN

. HIUIfd® g &R gRI

Options :

68634073701. 1
68634073702. 2
68634073703. 3
68634073704. 4

=

Question Number : 27 Question Id : 68634018662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Secondary level of Prevention include all of the following except :

1. Health screening for Diabetes Mellitus

[ )

. Reconstructive surgery in leprosy
3. Case finding for Falciparum malaria
4. Contact tracing for STIs

Options :

68634073705. 1
68634073706. 2
68634073707. 3
68634073708. 4

Question Number : 27 Question Id : 68634018662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadtas TR ot Asum § & fafvaa, gt afmfea €1

1. OY0E Oferey ot W@y sid
2. DY I Y §ARAD e
3. G URH HellRdl & oy ol Gl v
4. STIs o TCTU U I (30

Options :

68634073705. 1

68634073706. 2

68634073707. 3
68634073708. 4

Question Number : 28 Question Id : 68634018663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Ottawa charter of health promotion incorporates all of the following key action areas except :
1. Build healthy public policy
2. Reorient health services
3. Build Social Security System

4. Strengthen community action for health

Options :



68634073709. 1
68634073710. 2
68634073711. 3
68634073712. 4

Question Number : 28 Question Id : 68634018663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W YR o e fierar ez § & Sfdiad It ygwE fhan 9imfada g
1, TR O AIfd G
2. =Y Yarsfl &1 g ared &3l
3. IS YR&f o T i
4, WA & feI AT foparaif o1 T=Iad S

Options :

68634073709. 1
68634073710. 2
68634073711. 3
68634073712. 4

Question Number : 29 Question Id : 68634018664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which country has the highest Life Expectancy Rate :

1. UK

[ ]

. USA

L]

. Japan

4, France

Options :

68634073713. 1
68634073714. 2
68634073715. 3
68634073716. 4

Question Number : 29 Question Id : 68634018664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073713. 1
68634073714. 2
68634073715. 3
68634073716. 4

Question Number : 30 Question Id : 68634018665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DALY is:

—

. Disablity Adjusted Life year

(B

. Disability Associated Life year
3. Disease - Adjusted Life year
4. Disease - Associated Life year
Options :
68634073717. 1
68634073718. 2

68634073719. 3
68634073720. 4

Question Number : 30 Question Id : 68634018665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DALY ®:

fsafefadt veufes ag® 3R

oy

%
%
;

3. faddiy veufes aEw gmR
4. fsdiw aiRafes asw s
Options :

68634073717. 1



68634073718. 2
68634073719. 3
68634073720. 4

Question Number : 31 Question Id : 68634018666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Nephrology deals with the disease of :
1. Nerves
2. Kidneys
3. Parasites
4, Children
Options :
68634073721. 1
68634073722. 2

68634073723.3
68634073724. 4

Question Number : 31 Question Id : 68634018666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATTee & Y aifire 71 BT ITER ST B
1. T
TP (<)
TR

TRy (=)

Options :

68634073721. 1
68634073722. 2
68634073723. 3
68634073724. 4

| )

[FN]

=Y

Question Number : 32 Question Id : 68634018667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Soiling index is an indicator of :
1. Water Pollution

2. Sand Pollution

L]

. Excreta pollution

4. Air Pollution

Options :

68634073725. 1
68634073726. 2
68634073727. 3
68634073728. 4

Question Number : 32 Question Id : 68634018667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST (HISICHT) Ya® e, UH Ya& § -
1. 5Tel UG 0T

e D]

T UGN I

g UgHUl Bl

Options :

68634073725. 1

68634073726. 2

68634073727.3
68634073728. 4

| )

L]
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Question Number : 33 Question Id : 68634018668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Horrock's apparatus estimates :

1. Free chlorine

b2

. Combined Chorine

L¥ 5]

(1) + (2) both
4. Chlorine demand

Options :
68634073729. 1



68634073730. 2
68634073731.3
68634073732. 4

Question Number : 33 Question Id : 68634018668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ERIT SUHIU I iid Bl oIl & -
oK FARI Pl
g TR &t
(1) +(2) FT Bt
4. FARM BT DI
Options :
68634073729. 1
68634073730. 2

68634073731.3
68634073732. 4
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Question Number : 34 Question Id : 68634018669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Most undesirable metal in drinking water is :

1. Zine

b2

. Copper
3. Iron

4. Lead

Options :

68634073733. 1
68634073734. 2
68634073735. 3
68634073736. 4

Question Number : 34 Question Id : 68634018669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073733. 1
68634073734. 2
68634073735. 3
68634073736. 4

L]
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Question Number : 35 Question Id : 68634018670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a source of indoor Air Pollution :

1. Carbon monoxide

| B

. Nitrogen dioxide
3. Radon
4. Mercury vapour

Options :

68634073737. 1
68634073738. 2
68634073739. 3
68634073740. 4

Question Number : 35 Question Id : 68634018670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrafafEa & I P sraatell (SSR) a1y weyul o1 Hid el &2

1. Bl AFAeaEs

2. AECIoH SR AFIES
S
4. ARG (UIRT) ad

Options :



68634073737. 1
68634073738. 2
68634073739. 3
68634073740. 4

Question Number : 36 Question Id : 68634018671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is true for Global warming ?

1. CO, 1s a major greenhouse gas

| )

. Stratosphere Ozone layer is harmful
3. CFC increase's stratosphere Ozone layer
4. Kyoto Protocol called for 20% reduction in green house emissions
Options :
68634073741. 1
68634073742. 2

68634073743.3
68634073744. 4

Question Number : 36 Question Id : 68634018671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeRaa o ¥ o yHsd argA (diEd aifi) & e wel 82
1.CO, U6 TR AH eeu N §
2. FHAY 58 B A6l TR SHDHRD &

3. CFC U gHaM Hsd &l eI Wa 4 gig gl &

4. T UietepTd 8 Ui 8199 S99 B 20% HHI TF BT U9 U

Options :

68634073741. 1
68634073742. 2
68634073743. 3
68634073744. 4

Question Number : 37 Question Id : 68634018672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A child has multiple itchy popular lesions on the genitalia and fingers. Similar lesions are also seen in the
younger brother. Which of the following 1s most possible diagnosis?

1. Atopic dermatitis

2. Papular urticaria

3. Scabies

4. Allergic contact dermatitis

Options :

68634073745. 1
68634073746. 2
68634073747. 3
68634073748. 4

Question Number : 37 Question Id : 68634018672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0% T & S SR STl B 3@ Golel 9Td SR 914 § | S A & U1d 9@ aic 415 & i &g
Mo | FefaRad 5 9 e gaffde dya Fem e

1. teifus sHersfen
2. gMER fodt (anféesfeam
3. olell (Ipaian)
4. Tafoi 99 SHeged
Options :
68634073745. 1
68634073746. 2

68634073747. 3
68634073748. 4

Question Number : 38 Question Id : 68634018673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Epidemiology deals with study of :

1. Epidemic diseases

2

. Communicable diseases

LFS]

. All health-related events and states in a population

4, Communicable and non comunicable diseases



Options :

68634073749. 1
68634073750. 2
68634073751. 3
68634073752. 4

Question Number : 38 Question Id : 68634018673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uftrefisiiarot & st fara ol 6:
ORI T &1
. HeRuity I BT
ST | e Jafid G gedrst iR sawta &1
4. AR SR SRR I @1
Options :
68634073749. 1
68634073750. 2

68634073751.3
68634073752. 4

oy
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Question Number : 39 Question Id : 68634018674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Incidence is defined as :
1. Number of cases existing is a given population at a given moment
2. Number of old cases present during a specified period in a given population
3. Number of cases existing in a given period
4. Number of new cases occurring during a specified period in a given population
Options :
68634073753. 1
68634073754. 2

68634073755. 3
68634073756. 4

Question Number : 39 Question Id : 68634018674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073753 1
68634073754. 2
68634073755. 3
68634073756. 4

Question Number : 40 Question Id : 68634018675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If P indicates Prevalence. I-Incidence and D-duration of illness. then the relationship between Prevalence and
Incidence is expressed as :

1.LI=PxD
2 p=1
D
3.P=IxD
4. P=1+D
Options :

68634073757. 1
68634073758. 2
68634073759.3
68634073760. 4

Question Number : 40 Question Id : 68634018675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.LI=P=D

gl
D

[ ]

3.P=1xD
4.P=1+D

Options :

68634073757. 1
68634073758. 2
68634073759. 3
68634073760. 4

Question Number : 41 Question Id : 68634018676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A 'Primary Health Centre (PHC) caters to a Rural population of :

1. 25,000

2

. 50.000
3. 20.000
4. 30.000
Options :
68634073761. 1
68634073762. 2

68634073763. 3
68634073764. 4

Question Number : 41 Question Id : 68634018676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS WIYTHe® WA 5 (PHC) @t IO SAEE & Yar Sar gl

1. 25.000

| )

. 50,000

3. 20,000

4. 30.000



Options :

68634073761. 1
68634073762. 2
68634073763. 3
68634073764. 4

Question Number : 42 Question Id : 68634018677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
'Endemic Disease' means that a disease :
1. Is constantly present in a given population group
2. Exhibits seasonal pattern
3. Occurs clearly in excess of normal expectancy
4. Is prevalent among animals
Options :
68634073765. 1
68634073766. 2

68634073767. 3
68634073768. 4

Question Number : 42 Question Id : 68634018677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073765. 1
68634073766. 2
68634073767. 3
68634073768. 4

Question Number : 43 Question Id : 68634018678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In India, Primary Healthcare System 1s a tier system

| M

[ ]
Lad

4.4

Options :

68634073769. 1
68634073770. 2
68634073771. 3
68634073772. 4

Question Number : 43 Question Id : 68634018678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd § Wy e 3Evd o TR A I gl

1.2

| ]
Lad

4.4
Options :
68634073769. 1
68634073770. 2

68634073771. 3
68634073772. 4

Question Number : 44 Question Id : 68634018679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Systematic study of human diseases and social factors is known as :
1. Social medicine
2. Social Pathology
3. Social Physiology
4. Commonity medicine
Options :

68634073773. 1
68634073774. 2



68634073775.3
68634073776. 4

Question Number : 44 Question Id : 68634018679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g I SR THISE SRS P o7a T HHT HEand o-
i Sirfer fagm
T IR fam (et
AT TR o foq
e siwfy fagm
Options :
68634073773. 1
68634073774. 2

68634073775. 3
68634073776. 4

oy
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Question Number : 45 Question Id : 68634018680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Study of physical. social and cultural history of man is known as :

1. Anthropolgy

[ )

. Sociology
3. Social Science

4. Acculturation

Options :

68634073777. 1
68634073778. 2
68634073779. 3
68634073780. 4

Question Number : 45 Question Id : 68634018680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073777. 1
68634073778. 2
68634073779. 3
68634073780. 4
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Question Number : 46 Question Id : 68634018681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Societyisa:

1. Group with different beliefs

[

. Group with different religions
3. System of relations between individuals
4. Group with same beliefs

Options :

68634073781. 1
68634073782. 2
68634073783. 3
68634073784. 4

Question Number : 46 Question Id : 68634018681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl © -

1. faferr argarait arem 9eg
2. T ol &1 g

3. ofekTal o o9 Tyl 1 da
4. O OIS 9Tl 98

Options :



68634073781. 1
68634073782. 2
68634073783. 3
68634073784. 4

Question Number : 47 Question Id : 68634018682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
simply means "fitting the job to the worker' :
1. Economics
2. Bionomics
3. Socionomics
4, Ergonomics
Options :
68634073785. 1
68634073786. 2

68634073787.3
68634073788. 4

Question Number : 47 Question Id : 68634018682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 IR 3 § PRI & 670 Sugad
1. rfemE
- ola gyt

- ga g IRd

| )

L

4. HH q&dl ][4

Options :

68634073785. 1
68634073786. 2
68634073787. 3
68634073788. 4

Question Number : 48 Question Id : 68634018683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Acculturation" means :

1. Concealing the quality of food by addition of toxicants

| ]

. Exchange of ideas between people
3. Cultural contact
4. Process by which individual gradually acquires a culture
Options :
68634073789. 1
68634073790. 2

68634073791. 3
68634073792. 4

Question Number : 48 Question Id : 68634018683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AP IA-TH T (SR BT 3 § -
1. fauTe yardf &1 e HIeH @ qurad &l furT
2. SHa1 & &9 H [G=R] &1 sfieH-UeH
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Options :

68634073789. 1
68634073790. 2
68634073791. 3
68634073792. 4

Question Number : 49 Question Id : 68634018684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Medical Education in India is regulated by

1. National Medical Commission

(B

. Indian Medical Council
3. Indian Council of Medical Research

4, ATIMS

Options :
68634073793. 1



68634073794. 2
68634073795.3
68634073796. 4

Question Number : 49 Question Id : 68634018684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd H Fafdean e 1 FrRifd v &-

1. 1Y P ST
2. HRd ffdE uieg
3. UG fefer sy uivg
4. ATIMS

Options :

68634073793. 1

68634073794. 2

68634073795.3
68634073796. 4

Question Number : 50 Question Id : 68634018685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1s a 'learned behaviour which has been socially acquired'
1. Society
2. Environment
3. Community
4, Culture
Options :
68634073797. 1
68634073798. 2

68634073799. 3
68634073800. 4

Question Number : 50 Question Id : 68634018685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073797. 1
68634073798. 2
68634073799. 3
68634073800. 4

[ ]

L]

Question Number : 51 Question Id : 68634018686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The last Census in India was held in the year

1. 2021

[ ]

. 2019
3.2011
4, 1991
Options :
68634073801. 1
68634073802. 2

68634073803. 3
68634073804. 4

Question Number : 51 Question Id : 68634018686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yRd H fOsdl s=umEr ad Aot g o

1. 2021

| ]

. 2019
3. 2011

4, 1991

Options :
68634073801. 1



68634073802. 2
68634073803. 3
68634073804. 4

Question Number : 52 Question Id : 68634018687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ASHA stands for :
1. Approved Social Health Activator
2. Accredited Secondary Health Activist
3. Accredited Social Health Activist
4. Annual Schedule of Hospital Administration

Options :

68634073805. 1
68634073806. 2
68634073807. 3
68634073808. 4

Question Number : 52 Question Id : 68634018687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ASHAST QUi A & -

. TYoS il B Ufgede?

 Ufpfsfes Gadhsdl gy Ufdefae

i Y
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Options :

68634073805. 1
68634073806. 2
68634073807. 3
68634073808. 4

—
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Question Number : 53 Question Id : 68634018688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following city do note have an All India Institute of Medical Sciences (AIIMS)?

1. Jodhpur

[ ]

. Bhubhaneshwar
3. Patna
4. Thiruvananthapuram

Options :

68634073809. 1
68634073810. 2
68634073811. 3
68634073812. 4

Question Number : 53 Question Id : 68634018688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafaa wedl & 4 faad aif@a yRdm mfdam = (amvs) T8 &2
1. SIYgR
HEAHR

CHeAl

4. faea-iageH

Options :

68634073809. 1
68634073810. 2
68634073811. 3
68634073812. 4

| )
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Question Number : 54 Question Id : 68634018689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Myocardial Infarction is the term used for

1. Stroke

(B

. Heart attack

5]

. Food poisoning

=y

. Kidney failure

Options :
68634073813. 1



68634073814. 2
68634073815.3
68634073816. 4

Question Number : 54 Question Id : 68634018689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073813. 1
68634073814. 2
68634073815. 3
68634073816. 4

L]

e

Question Number : 55 Question Id : 68634018690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The medical Doctor who deals with pregnancy and child birth 1s :

1. Pulmonologist

| B

. Gynaecologist and Obstetrician
3. Opthalmologist

4. Peadodentist

Options :

68634073817. 1
68634073818. 2
68634073819. 3
68634073820. 4

Question Number : 55 Question Id : 68634018690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ae Rifrae it mufawn ok Rrg o1 @ G6fta 2. a8 2 -
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Options :
68634073817. 1
68634073818. 2

68634073819. 3
68634073820. 4

a—y
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Question Number : 56 Question Id : 68634018691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the hospital Biomedical waste management what is the colour code of the bin which 1s used for disposing
sharps?

1. White

2. Pink

3. Magenta

4. Red
Options :
68634073821. 1
68634073822. 2

68634073823.3
68634073824. 4

Question Number : 56 Question Id : 68634018691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073821. 1
68634073822.2
68634073823. 3
68634073824. 4

Question Number : 57 Question Id : 68634018692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The medical procedure of Dialysis' 1s conducted on patients suffering from disease :

1. Bones
2. Brain

3. Kidneys
4. Spleen

Options :

68634073825. 1
68634073826. 2
68634073827. 3
68634073828. 4

Question Number : 57 Question Id : 68634018692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SrafeR fafewr fafe o wan I & I o6 oy fsar smar 21
1. ey
- giEss

TS (TFD)
4. Tilgl

Options :

68634073825. 1
68634073826. 2
68634073827. 3
68634073828. 4

[ ]

L]

Question Number : 58 Question Id : 68634018693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following system of medicine is not included in the AYUSH stream?

1. Ayurveda

[ ]

. Unami

L]

. Tibetan Medicine
4. Yoga and Naturopathy

Options :

68634073829. 1
68634073830. 2
68634073831. 3
68634073832. 4

Question Number : 58 Question Id : 68634018693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HGY (AYUSH) 8 § Fafafad siufy 3= § $=-91 9 781 87
1. 3MgS
2. g

1|"‘\ Oy o
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Options :

68634073829. 1
68634073830. 2
68634073831. 3
68634073832. 4

Question Number : 59 Question Id : 68634018694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ICMR stands for :

1. International Centre for Management Rescarch

| )

. Indian Centre for Material Research
3. Indian Council for Medical Research

4. International Council for Medical Resources

Options :
68634073833. 1



68634073834. 2
68634073835.3
68634073836. 4

Question Number : 59 Question Id : 68634018694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ICMR ST R & -

1. SeAYE Jex BR Twde rgd

2. 5feu Jer ik #difad e

3. S50 B ifhd B Afgea R

4. ST FHirgd BR Bfgea g
Options :
68634073833, 1
68634073834. 2

68634073835. 3
68634073836. 4

Question Number : 60 Question Id : 68634018695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The largest vaccine manufacturer in the world is :
1. Dr. Reddys Lab
2. Serum Institute of India
3. Glaxo

4. Sun Pharma

Options :

68634073837. 1
68634073838. 2
68634073839. 3
68634073840. 4

Question Number : 60 Question Id : 68634018695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073837. 1
68634073838. 2
68634073839. 3
68634073840. 4

L]

Question Number : 61 Question Id : 68634018696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Coronory angioplasty 1s conducted by :

1. Orthopedician

[ )

. Ophthalmologist
3. Cardiologist
4. General Surgeon
Options :
68634073841. 1
68634073842. 2

68634073843.3
68634073844. 4

Question Number : 61 Question Id : 68634018696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BRI U] & GRIUUH 31 o1l g
1. 3MYYSIRmEA
B 118 [ 111 £
B saraioRe
4. TRE Hoid

Options :
68634073841. 1
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L



68634073842. 2
68634073843.3
68634073844. 4

Question Number : 62 Question Id : 68634018697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Standards for Accreditation of Hospitals is :

1. ACHS

[

i
3. NABL

4. NABH

Options :

68634073845. 1
68634073846. 2
68634073847. 3
68634073848. 4

Question Number : 62 Question Id : 68634018697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT &I HA &4 & [T URA 7S ©

1. ACHS

|

L
3. NABL

4 NABH

Options :

68634073845. 1
68634073846. 2
68634073847. 3
68634073848. 4

Question Number : 63 Question Id : 68634018698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following hospital stock is the part of National Stock Exchange, NIFTY 50 index.

1. Aster DM healtheare

[ ]

. Apollo Health Care Enterprises Limited

LF%]

. Narayana Health

4. Max Healthcare

Options :

68634073849. 1
68634073850. 2
68634073851. 3
68634073852. 4

Question Number : 63 Question Id : 68634018698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073849. 1
68634073850. 2
68634073851. 3
68634073852. 4

Question Number : 64 Question Id : 68634018699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Epidemiological triad consists of :
1. Agent. environment, treatment
2. Agent. host. environment
3. Vector, carrier. environment

4. Agent. vector, host

Options :
68634073853. 1



68634073854. 2
68634073855.3
68634073856. 4

Question Number : 64 Question Id : 68634018699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TRl fagr (Uifsitaiea) Be o 9w 3 -
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Options :

68634073853. 1
68634073854. 2
68634073855. 3
68634073856. 4

Question Number : 65 Question Id : 68634018700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Course of a disease process without any intervention' is the definition of :
1. Epidemiological triad
2. Spectrum of disease

3. Epidemiology

4. Natural history of disease

Options :

68634073857. 1
68634073858. 2
68634073859. 3
68634073860. 4

Question Number : 65 Question Id : 68634018700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073857. 1
68634073858. 2
68634073859. 3
68634073860. 4

Question Number : 66 Question Id : 68634018701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Many hospitals/health care companies are listed in Stock Exchange of India.
Reason R : For listing in Stock Exchange the company must has issued an Initial Public Offer (IPO).
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

2

. Both A and R are correct but R is NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

68634073861. 1
68634073862. 2
68634073863. 3
68634073864. 4

Question Number : 66 Question Id : 68634018701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073861. 1
68634073862. 2
68634073863. 3
68634073864. 4

Question Number : 67 Question Id : 68634018702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : In the last 10 years. there has been a phenomenal mcrease i the number of medical seats
(MBBS) 1n our country.

Reason R : The government has changed the regulatory frame work for medical education and increased the
investment in it.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A 1s correct but R 1s not correct
4. A 1s not correct but R 1s correct
Options :
68634073865. 1
68634073866. 2

68634073867. 3
68634073868. 4



Question Number : 67 Question Id : 68634018702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634073865. 1
68634073866. 2

68634073867. 3
68634073868. 4

Question Number : 68 Question Id : 68634018703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Obesity cannot be measured in the Indian Context.

Reason R : Body mass Index above 25 1s considered as obesity.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A 1s correct but R 1s not correct
4. A 1s not correct but R is correct
Options :
68634073869. 1

68634073870. 2
68634073871. 3



68634073872. 4

Question Number : 68 Question Id : 68634018703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073869. 1
68634073870. 2
68634073871. 3
68634073872. 4

Question Number : 69 Question Id : 68634018704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The Pre-Conception and Pre-Natal Diagnostic Techniques (PC and PNDT) Act aims at
protection of sex selection before and after conception.

Reason R : The PC-PNDT Act 1994, 2003 also aims for prevention of misuse of pre-conception and pre-natal
diagnostic technique for sex determination.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are correct and R 1s the correct explanation of A

2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

68634073873. 1
68634073874. 2
68634073875. 3
68634073876. 4

Question Number : 69 Question Id : 68634018704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%aﬁﬁwﬁmﬂt{% : WWW[ASSEHMHH&)%W ﬁﬁ!‘@ﬁ%?ﬁmmm(lieason R]la5
g4,
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Suded A & A 1, [4U T fd@ed ¥ ¥ ol SR 31 90 il
1. A SRR I 61 § AR R, AP Uo! AT §
A SRR GH T8I € SRR A DI gl RS ol o

3. AT E AfPTR T B

b2

4 ANTITAPTIRIATE

Options :
68634073873. 1
68634073874. 2



68634073875.3
68634073876. 4

Question Number : 70 Question Id : 68634018705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : To prevent Hospital Acquired Infection healtheare workers employed in the hospital should be
vaccinated against Hepatitis-B

Reason R : To prevent Hospital Acquired Infection the infectious waste handlers should wear heavy duty
gloves while dealing with the waste matter.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are true and R i1s the correct explanation of A

| ]

. Both A and R are true but R is NOT the correct explanation of A
3. A 1s ture but R 1s false

4. A is false but R is true

Options :

68634073877. 1
68634073878. 2
68634073879. 3
68634073880. 4

Question Number : 70 Question Id : 68634018705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4 ANTTEAPTIRIAT
Options :
68634073877. 1
68634073878. 2

68634073879. 3
68634073880. 4

Question Number : 71 Question Id : 68634018706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one 1s labelled as Assertion A and the other 1s labelled as Reason R
Assertion A : Critically ill patients who need constant monitoring of their clinical condition and require
support are managed in ICU (Intensive Care Umnit).
Reason R : A well trained doctor i critical diseases should be always available 24x7 in the ICU's.
In the light of the above statements, choose the most appropriate answer from the options given below :
1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A 1s true but R 1s false
4. A is false but R is true
Options :
68634073881. 1

68634073882. 2
68634073883. 3



68634073884. 4

Question Number : 71 Question Id : 68634018706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fqagﬁmﬁt{m{%‘ - U HTGYT (Assertion A) P =0 H fARAd § T TR 3P BRI (Reason R) F
HTUFYT A: TR =0 I TR I, ool iy R $1 FRaw FRET au1 e Sead o
ARSI Bkl 6. 38 ICU (e e sPTs) H X@l Il 3|
BRI R: ICU § T8+ e $@-41a & [0 ue Quikiea Siaes 247 9ad 3uasd 361 91Ul
Sudad Bl & HAe 8. [4U T fdwed ¥ O ol SR 31 90 Pl
1. A SRR G Ul § SRR A DI ol ARAT §

| )

A 3R R S GE € SRR, AT Ut cars AT ©

3 AT E AT R IEAE

4 AT APTIRIT B

Options :

68634073881. 1
68634073882. 2
68634073883. 3
68634073884. 4

Question Number : 72 Question Id : 68634018707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Disinfection and sterilization are very important functions of practitioners of community
medicine.

Reason R : The practitioners in the field of community medicine should be trained properly in disinfection
and sterilization in their settings.
In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A

[ ]

. Both A and R are true but R is NOT the correct explanation of A
3. A 1s true but R is false
4. A is false but R is true

Options :

68634073885. 1

68634073886. 2

68634073887. 3
68634073888. 4

Question Number : 72 Question Id : 68634018707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁ%aﬁﬁwﬁmﬂt{% : WWW[ASSEHMHH&)%W ﬁﬁ!‘@ﬁ%?ﬁmmm(lieason R]la5
g4,
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Suded Al & HTde 1, [4U T fd@ed ¥ ¥ ol SR 31 90 Pl
1. AR REA T8I § SRR A DI Jol ARAT ©

2. A 3R R EHI UE § SR R, A B Ul e gl §
3ATIE AP R IR
4. ATAC AP RITTE

Options :

68634073885 1

68634073886. 2
68634073887. 3



68634073888. 4

Question Number : 73 Question Id : 68634018708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : Oncology is the branch of medicine which deals with cancer.

Statement IT : Radiotherapy. chemotherapy and surgery are the modes of treatment in oncology.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both Statement I and Statement II are correct
2. Bothe statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect
4. Statement I 1s incorrect but Statement II is correct
Options :
68634073889. 1
68634073890. 2

68634073891. 3
68634073892. 4

Question Number : 73 Question Id : 68634018708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR FufRumug.

HYT 1: 3-Bidoll [ ©f dg IRaT ©, o PR I YafUd g
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1. PYTI ARSI T E

2 HYTI AR SHT IET S
3. PYT1 I ©. AfchT HUF 11 39 ©

4 PYTI I e, AfFT P I Ta B

Options :
68634073889. 1



68634073890. 2
68634073891. 3
68634073892. 4

Question Number : 74 Question Id : 68634018709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : National Institute of Nursing Council is the regulatory board for nurses in India.

Statement II : Nursing education and nurses can come under the regulation of National Medical Commission.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both statement I and statement II are correct

2. Both statement I and statement IT are incorrect

3. Statement I is correct but statement II is incorrect

4. Statement I is incorrect but statement IT is correct

Options :

68634073893. 1
68634073894. 2
68634073895. 3
68634073896. 4

Question Number : 74 Question Id : 68634018709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073893. 1
68634073894. 2
68634073895. 3
68634073896. 4

Question Number : 75 Question Id : 68634018710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I: Angiography and angioplasty are done in cardiac catheterization laboratory in a hospital.

Statement II: Angioplasty is the process in which blocks in the heart are removed and stents placed.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct

[

. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634073897. 1
68634073898. 2
68634073899. 3
68634073900. 4



Question Number : 75 Question Id : 68634018710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT 1: U@t 3R U, 3radrd &1 Sifegd SUeIgo TarTa | 60 oid 81

U I1: U] Ufear § g5 § $@1ac] & geld: e au old 8
SUdad Bl & HAe . [3U 10 fdwed ¥ 4 Tl SR 31 90 Py
1. YT AR 1 &H T &
2. BYA 1 3R 11 ST 3§
3. BU 1 9 3. A SUH 11 3T 7

4. YT AT . AfpT PUT I TT &

Options :

68634073897. 1
68634073898. 2
68634073899. 3
68634073900. 4

Question Number : 76 Question Id : 68634018711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : In India there is no legislation pertaining to transplantation of human organs.

Statement IT : Indian Parhiament has passed an act named Human Organ Transplantation Act.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both statement I and statement IT are correct

| )

. Both statement I and statement IT are incorrect
3. Statement I is correct but Statement IT is incorrect

4, Statement I is incorrect but statement IT is correct

Options :

68634073901. 1
68634073902. 2
68634073903. 3
68634073904. 4



Question Number : 76 Question Id : 68634018711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁaaﬁﬁmﬁqm%
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Options :

68634073901. 1
68634073902. 2
68634073903. 3
68634073904. 4

Question Number : 77 Question Id : 68634018712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Family limitation and spacing of births contribute substantially to the lowering of Infant
Mortality Rate.

Statement II : The Risk of death is greatly enhanced if the last child was born less than 2 years ago and if the
mother already has four or more children.
In the light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement IT are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634073905. 1
68634073906. 2
68634073907. 3



68634073908. 4

Question Number : 77 Question Id : 68634018712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EICEACAIE AR
HY I: URAR 1 YT ST 3R H & diid . ] Jo a2 1 B B+ § He@yul giEH &dl g

Y 11: IS e s=31 31 a¥ 8 &1 YHgafe yd Uar g3 g1 iR A1dl & Ugd U 81 9R 41 34 = gl
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4. BYT TS, AfPT YT I I &

Options :

68634073905. 1
68634073906. 2
68634073907. 3
68634073908. 4

Question Number : 78 Question Id : 68634018713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Gestation Diabetes is hyperglycemia with blood glucose values above normal but below those
diagnostic of diabetes occurring during pregnancy.

Statement IT : Women with gestation diabetes are at an inereased risk of complication during pregnancy and
at delivery.

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect

4, Statement I is incorrect but Statement IT is correct

Options :
68634073909. 1
68634073910. 2



68634073911. 3
68634073912. 4

Question Number : 78 Question Id : 68634018713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073909. 1
68634073910. 2
68634073911. 3
68634073912. 4

Question Number : 79 Question Id : 68634018714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Accredited social health activists (ASHA) workers will be involved to bring out suspected cases
trom their villages for diagnosis at PHC

Statement IT : ASHA workers will not take the follow up of the patients for completion of their treatment.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are true

| )

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4, Statement I is false but Statement II is true



Options :

68634073913. 1
68634073914. 2
68634073915. 3
68634073916. 4

Question Number : 79 Question Id : 68634018714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT 1: PHC T FeM & fou 3= gl § Iiem arga &1 9re- dF & o ar=gdr wied gramieie Wy
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Options :

68634073913. 1
68634073914. 2
68634073915. 3
68634073916. 4

Question Number : 80 Question Id : 68634018715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In health education. for the adoption of new ideas and practices the following stages are involved and the
correct process of sequencing is :

AL Interest

B. Awareness
C. Trial

D. Evaluation
E. Adoption

Choose the correct answer from the option given below :

1. AC.D.E.B

[

.B.A.D.C,E
3.B.A.C.D.E
4.A.B.C.D.E

Options :

68634073917. 1
68634073918. 2
68634073919. 3
68634073920. 4

Question Number : 80 Question Id : 68634018715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W&fﬁ%ﬂﬁﬂqﬁmﬁaﬁimﬂaﬁaﬁwmﬁﬁmﬁﬁgﬁﬁﬁﬂﬁﬁaaﬁ?ﬁ?mﬂﬁ
HAPHI & :

A, Tl
B. SIRT=addl
c.uﬁ&_rm

D. Iedid
E. 3991 (TSIM)

=it fag T faoredl # 9 9ol SR &1 90 S
LACDEDB
2.B.A.D.C.E
3.B.A,C,D.E
4. A B.C.D.E
Options :
68634073917. 1

68634073918. 2
68634073919. 3



68634073920. 4

Question Number : 81 Question Id : 68634018716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is correct sequence for steps involved in the process of chlorination of wells?

A. Dissolve bleaching powder in water

B. Put chlorine solution in well

C. Find out the amount of water in a well

D. Find the amount of beaching power required
E. Then drink the water

Choose the correct answer from the options given below :

1.C,D.AB.E

[ )

.C.D.B.A.E
A S A e P
4. A.C.D.B.E

Options :

68634073921. 1
68634073922. 2
68634073923. 3
68634073924. 4

Question Number : 81 Question Id : 68634018716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634073921. 1
68634073922. 2
68634073923. 3
68634073924. 4

Question Number : 82 Question Id : 68634018717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following diseases are transmitted by mosquito?

A. Yellow fever

B. Q fever

C. Chikungunya

D. Relapsing fever

E. Japanese encephalitis
F. Sleeping sickness

Choose the correct answer from the options given below :

1.LALC&E

| )

B, C&E
3ID.E&F
4 AB.C&F

Options :

68634073925. 1
68634073926. 2
68634073927. 3
68634073928. 4

Question Number : 82 Question Id : 68634018717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073925. 1
68634073926. 2
68634073927. 3
68634073928. 4

Question Number : 83 Question Id : 68634018718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the correct steps to calculate the Human Development Index?

A. Creating the dimension indices

B. Calculate the prevalence of disease

C. Aggregating the sub indices to produce the Human Development Index.
D. From disease prevalence. Human Development Index can be calculated.

Choose the correct answer from the options given below :

l.Aand D

[ ]

Aand B
3,Aand C

4. Band D

Options :

68634073929. 1
68634073930. 2
68634073931. 3
68634073932. 4



Question Number : 83 Question Id : 68634018718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073929. 1
68634073930. 2
68634073931. 3
68634073932. 4

Question Number : 84 Question Id : 68634018719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which are the examples of primordial prevention?
A. Changing lifestyles to prevent disease

B. Hypertension treatment

C. Screening of cervical cancer
D. Health Education

Choose the correct answer form the options given below :

LB&C

| )

A&C
3JA&D
4 B&D

Options :

68634073933. 1
68634073934. 2
68634073935. 3
68634073936. 4



Question Number : 84 Question Id : 68634018719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. Had A 3R C
3. HAA A ARD
4. HIAB ARD

Options :

68634073933, 1

68634073934. 2

68634073935.3
68634073936. 4

Question Number : 85 Question Id : 68634018720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the correct sequence of the four stages of malarial parasite in the body of mosquito?
A. Oockinete
B. Zygote

C. Oocyst
D. Sporozoite

Choose the correct answer form the options given below :
1.B.A.D.C
2Z2AB.CD
3JABDC
4.B.A.C.D
Options :
68634073937. 1

68634073938. 2
68634073939. 3



68634073940. 4

Question Number : 85 Question Id : 68634018720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad 5 3 o w1 =3 d Hola welld] & TR sawisl @1 ¥l S HH g2

A. FA-JH (SH3HIC)
B. QIHA (WIZ711T)

C. gHBYL (SHIE)

D. SISIIU[el (TRIST31gE)

Ty

i fau 0 f[daredl | U Uel 3R &1 904 Big;

LB ADC

[ ]

A B.C.D
3ABDC
4 B.A.C.D

Options :

68634073937. 1
68634073938. 2
68634073939. 3
68634073940. 4

Question Number : 86 Question Id : 68634018721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following are the steps involved in Planning. select the correct sequence :

A. Establishment of objectives
B. Assessment of resources
C. Analysis of health situation
D. Prepare alternate plans
Choose the correct answer from the options given below :
1..AB,C.D
2.B,A,C,D
3.C,A,B.D
4.C,B.D,A
Options :

68634073941. 1
68634073942. 2



68634073943. 3
68634073944. 4

Question Number : 86 Question Id : 68634018721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & Fefafag ug fRu U €1 597% 98t ©F &1 90 SIfSu -
A 35l B RITTAT
B. 9O1YA] &7 HTH A
C. ey fRyfg o1 fowayo
D. & cd® JIai-1 ddR ST

- fau Y famedt & 9 Tel ST o 904 Sifvie:

1LABECD

2.B.A,C.D
3.C,A.B,D
4. C,B.D. A

Options :

68634073941. 1
68634073942. 2
68634073943. 3
68634073944. 4

Question Number : 87 Question Id : 68634018722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Examples of non-communicable diseases are -

A HIV/AIDS
B.TB
C. Cancer
D. Hypertension
E. Malaria
Choose the correct answer from the options given below :
1. A&E only
2.B & D only
3.C & D only
4.B & C only

Options :



68634073945. 1
68634073946. 2
68634073947. 3
68634073948. 4

Question Number : 87 Question Id : 68634018722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=R I & 360l © -

A HIV/AIDS
B.TB

C. P

D. 3= Iga91d

E. Haln

=i fau 0 f[daredl | U Uel 3R &1 904 BIiu;

1. Hdd A ARE

2. $aAB AR D

3. %ad C 3RD

4. HaAB AR C

Options :

68634073945. 1
68634073946. 2
68634073947. 3
68634073948. 4

Question Number : 88 Question Id : 68634018723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



' are the examples of Protozoan diseases.

A. Typhoid & Paratyphoid fever
B. Amoebiasis

C. Weil's disease

D. Giardiasis

E. Polio

Choose the correct answer from the options given below :

1.B & E only

[ ]

.A & C only
3.B & D only
4. A& E only

Options :

68634073949. 1
68634073950. 2
68634073951. 3
68634073952. 4

Question Number : 88 Question Id : 68634018723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UICToil 3 & PR g dTel T & 3280l &-

A TIEPISS 3R REEPIES §OR
B.

. did T

D. el

E. Giferar

i fu 0 f[daredl | U Uel 3R &1 904 diu;
1. $adA B AR E
2. Pad AR C
3.%dd B 3R D
4. PTAAARE

Options :

68634073949. 1
68634073950. 2
68634073951. 3
68634073952. 4




Question Number : 89 Question Id : 68634018724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not a zoonotic disease?

A. Rabies

B. Anthrax

C. Malaria

D. Brucellosis
E. Tuberculosis

Choose the correct answer form the option given below :

1.AICEE

| )

C&E
3.B&D
4 B.C&D

Options :

68634073953. 1
68634073954. 2
68634073955. 3
68634073956. 4

Question Number : 89 Question Id : 68634018724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiad § 3 o H Wit I =81 6 -
A I
B. Uda
C. gt
D. SR
E. B[RPAEE

i f4U 77U fawedl § 9 el SR &1 99+ Hifulu:
1. %ad A. C 3IRE
2.%ad C 3R E
3.%ad B IR D
4.%ad B. C 3RS D

Options :
68634073953. 1
68634073954. 2



68634073955. 3
68634073956. 4

Question Number : 90 Question Id : 68634018725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The curative component of 'Integrated Management of Neonatal and Childness Illness' (IMNCI) mcludes
management of :

A. Malaria

B. Measles

C. Diarrhoea

D. Breast feeding
E. Inmunisation

Choose the correct answer from the options given below :

1.A.B & C only

| )

.A.D & E only
3.B.D &E only
4.C.D & E only

Options :

68634073957. 1
68634073958. 2
68634073959. 3
68634073960. 4

Question Number : 90 Question Id : 68634018725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et o ¥ fa1e ya=M THied Faud Ud aTd I Jee & SUIRIAS 9ea] 1 Fiad g2

A, Hafn

B. @9

C. 3R (&%)
D. XHIH

E. fcRem

i fou 7Tt fawedl © § 9El STR &1 997 Fifult:
1. $aAA. B AR C
2. %ad A. D 3R E
3.%a0 B.D R E
4.8 C.D AR E

Options :

68634073957. 1
68634073958. 2
68634073959. 3
68634073960. 4

Question Number : 91 Question Id : 68634018726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following colour code 1s used for the triage in an Emergency.

A.Red

B. Black
C. Magenta
D. Green
E. Yellow

Choose the correct answer from the option given below :

1. A. B, and C only

[ ]

.B. C and D only
3. A. B and E Ouly

4. A. B and D only

Options :

68634073961. 1
68634073962. 2
68634073963. 3
68634073964. 4



Question Number : 91 Question Id : 68634018726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTUTAPIEH B B FEfad 1 I 69 T B8 BT D (triage) TAT 1501 T1A1 52

A @F
B. BTdl
C. OuieT

D.gxl
E. didl

i f4U 77U fawedl § 9 el SR &1 99+ Hifulu:
1. %ad A. B 3R C
2.%ad B.C 3R D
3.%ad A B HRE
4.%ad A.B 3R D

Options :

68634073961. 1
68634073962. 2
68634073963. 3
68634073964. 4

Question Number : 92 Question Id : 68634018727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following legislations is not directly applicable to health care organisations 7

A. Drugs and Cosmetics Act

B. Narcotic Drugs and Psychotropic Substances Act.
C. Dowry Prohibition Act. 1961

D. Life Insurance Corporation Act, 1956

Choose the correct answer from the options given below :

1.C&ED

| )

A&B
3.JA&D
4. B&D

Options :

68634073965. 1

68634073966. 2
68634073967. 3



68634073968. 4

Question Number : 92 Question Id : 68634018727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[FafcEd I 9§ o9 91 SFH W §18 & [0 Ydel U 3 a1 Jgi oidl o7

A. 3SfY 3R gied ganeE gy
B. Hrg® garyf 3R i gare sifefaas
C. gedl [Huy AT 1061

D. Silgd dHT1 HiH STy 1956

i fau 0 f[daredl | U Uel 3R &1 904 Big;

1.%ad C IR D
2. A A AR B
3. Had A 3IRD
4. PHaAB AR D

Options :

68634073965. 1

68634073966. 2

68634073967. 3
68634073968. 4

Question Number : 93 Question Id : 68634018728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following are the part of "Human resources' in a Hospital?

A, Doctors

B. Nurses

C. Health Secretary of State
D. Pharmacist

Choose the correct answer form the options given below :

1. A& B only

| )

. C only
3.A B.Donly
4.B & D only
Options :

68634073969. 1
68634073970. 2



68634073971. 3
68634073972. 4

Question Number : 93 Question Id : 68634018728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad ¥ I oF ($F) gara & Tra 9T BT U E 2

A Hiews (SldR)

B. T

C. I BT Wy g
D. BHIE

i fau 7Te fasedl § § 8l 3R &1 944 Siflt:

1. $dd A 3R B
2. FadC
3. HBIAA. B IARD
4. PadAB IR D

Options :

68634073969. 1

68634073970. 2

68634073971. 3
68634073972. 4

Question Number : 94 Question Id : 68634018729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Epilepsy I. | Ophthalmologist
B. | Cataract II. | Dermatologist
C. |Hernia III. | Neurologist
D. | Psorasis IV | General Surgeon|

Choose the correct answer from the options given below:

1. A-II, B-II1, C-IV, D-1

| )

AL B-I1L, C-1L D-IV
3. A-IV. B-III. C-II. D-1
4. A-ITL B-1. C-IV. D-II

Options :



68634073973. 1
68634073974. 2
68634073975. 3
68634073976. 4

Question Number : 94 Question Id : 68634018729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
e 1 T I
A [T odice 1 |eeeEaiRe
B. [Fifeantdg (herae) | 11 [gdifoe
C. [giHar 111 RIeeRe
D. [GREE vV [9EH 9o
fFrafeiad faseal o 9 Tel TR &1 997 S -

1. A-II. B-III. C-IV. D-1

|

AL B-IIL C-1L D-IV
3. A-IV, B-IIL. C-II. D-1
4. A-I11. B-1, C-IV. D-II

Options :

68634073973. 1
68634073974. 2
68634073975. 3
68634073976. 4

Question Number : 95 Question Id : 68634018730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A | Under weight I |BMI1851t025
B. | Over Weight II. | BMI between 25 to 30
C. | Normal Weight in Adults | III. | BMI above 30
D. | Obesity IV, | BMI Less than 185

Choose the correct answer from the options given below:

1. A-III. B-II. C-1. D-IV

| ]

. A-TV. B-II. C-I, D-IT1
3. A-L. B-IV, C-II, D-III
4. A-I1. B-1II1, C-IV. D-I

Options :

68634073977. 1
68634073978. 2
68634073979. 3
68634073980. 4

Question Number : 95 Question Id : 68634018730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
T I Tt I

 [@HTIdd (38¥de) | I |BMI185H25
3HfE goi drd (3ffaR de) | 11 |25 9 30 & &g BMI
CELSAR RS RT| Y 111 | 30 ©§ ST BMI
. [Frem V.| 18 s A BMI

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-III. B-II. C-1. D-IV

glo|w|=

| o

. A-IV, B-1I, C-I, D-III
3. A-L. B-IV, C-II. D-III
4. A-I1. B-III. C-IV. D-I

Options :

68634073977. 1
68634073978. 2
68634073979. 3
68634073980. 4



Question Number : 96 Question Id : 68634018731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Human Anatomical waste [. |Blue
Waste Sharps o )
B Jiscbading Mosis .| Tty
C. | Contaminated Waste III. | Red
D. | Glass ware IV. | White

Choose the correct answer from the options given below:

1. A-II. B-IV. C-III. D-I

| ]

CA-L B-II, C-III, D-IV
3. A-IV. B-II, C-III. D-I
4. A-I1. B-IV. C-I. D-II

Options :

68634073981. 1
68634073982. 2
68634073983. 3
68634073984. 4

Question Number : 96 Question Id : 68634018731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
a1 TqT 1T
A [AHTIRR & +ulRp | L Hie
B. [u1d gied J@ial &=’ | 1L [dier
C. [Haitd Ry I11. [T
D. [old &1 gHH v, [ga
fAafaRad foweal & O Ot SO &1 994 Difog -

1. A-IL. B-IV, C-III. D-1

|

AL B-IIL C-II1. D-IV
3. A-IV. B-II, C-III, D-I
4. A-II1, B-IV. C-1. D-II
Options :

68634073981. 1
68634073982. 2



68634073983. 3
68634073984. 4

Question Number : 97 Question Id : 68634018732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A | Vitamin C I | Beriberi
B. | Niacin II. | Scurvy
C. | Vitamin By ITI. | Pernicious Anemia
D. | Vitamin By IV. | Pellagra

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III. D-IV

| B)

A-ILL B-IV, C-I. D-III

[#5]

AL B-ILL C-1L D-IV
4, A-L. B-II, C-III, D-IV

Options :

68634073985. 1
68634073986. 2
68634073987. 3
68634073988. 4

Question Number : 97 Question Id : 68634018732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 =t 1 9 e Sifen
bl I
A [faefFc 1 @&
B. [FaEA 1I. [ewat
c. |f[aeaB, | [oHifme vt @feRe e
D. |fdeifia B, |1V [Farn

frafatad faweat § I 96t SR &1 997 B «

1. A-IL. B-I. C-IIL. D-IV

[ ]

CA-IL B-IV. C-1, D-ITT

3. A-III. B-11. C-1. D-IV

4. A-1. B-1I. C-III. D-IV



Options :

68634073985. 1
68634073986. 2
68634073987. 3
68634073988. 4

Question Number : 98 Question Id : 68634018733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A | IDA scudder I |Aster DM Healthcare
B. | Azad Moopen I1. | Medanta Medicity
C. | Devi Shetry III. | CMC Vellore
D._ | Naresh Trehan |IV. | Naravana Health

Choose the correct answer from the options given below:

1. A-IV, B-I11. C-II. D-I

| )

A-IL B-1. C-III, D-IV
3. A-III, B-1I. C-1, D-IV
4. A-ITL B-1. C-IV. D-II

Options :

68634073989. 1
68634073990. 2
68634073991. 3
68634073992. 4

Question Number : 98 Question Id : 68634018733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

Tt 1 T 1
|pamsr |1 [c=RDMER IR
HIoG gu | I [Her Arsiedt
Gt e

111 f[cMC deie
P Ee IV. AR 8

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-IV. B-I11. C-1I. D-I

glo|w|=

| o

A-IL B-1. C-III, D-IV
3. A-IIL. B-1I. C-1. D-IV
4. A-I11, B-1, C-IV. D-II

Options :

68634073989. 1
68634073990. 2
68634073991. 3
68634073992. 4

Question Number : 99 Question Id : 68634018734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |BCG 1. |Hepatitis-B
B. |DPT II. |Haemophilus Influenza
C. |HEPB III. | Duphtheria
D |Hib IV |TB

Choose the correct answer from the options given below:

1. A-II. B-1. C-IV, D-III

| )

A-IV, B-1I, C-I, D-II1

L

. A-IV. B-III. C-I, D-I1
4. A-ITL, B-1. C-II. D-IV

Options :

68634073993. 1
68634073994. 2
68634073995. 3
68634073996. 4



Question Number : 99 Question Id : 68634018734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
Gl T I
A |BCG I [guersfeas
B. |DPT 11 [BrEiftherd SRl
c. |HEPB 1L | Fawhiiea
D. |Hib IV. | TB
FfaiRad foseal § O 98l 3R & 904 DI

1. A-IL. B-1. C-IV, D-III

[ ]

. A-TV. B-II. C-I. D-III
3. A-TV. B-TII. C-1. D-II
4. A-II1. B-1. C-II. D-IV

Options :

68634073993. 1
68634073994. 2
68634073995. 3
68634073996. 4

Question Number : 100 Question Id : 68634018735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
ATIMS, Kalyani I. | Tamil Nadu
ATIMS, Madurat II. [Andhra Pradesh
ATIMS, Gorakhpur | TII. | Uttar Pradesh
ATIMS, Mangalgiri | IV. | West Bengal

REE

Choose the correct answer from the options given below:

1. A-IL. B-III, C-IV. D-I

| E)

. A-IL B-III, C-II. D-IV
3. A-IV. B-1, C-III. D-IT
4, A-I1, B-IV, C-I11, D-I

Options :

68634073997. 1

68634073998. 2
68634073999. 3



68634074000. 4

Question Number : 100 Question Id : 68634018735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

T 1 T I
A |anvs. Femit | 1 [@HEEg
B. |AmMs Hes 1L |38 Uew
C. [amvs, TR [nr o uew
D. [amvs HTERRT | 1V [oigm ST

frafatad foweat § I 98t SR &1 997 S«

1. A-II. B-III. C-IV. D-I

|

. A-IB-III. C-I1. D-IV
3. A-IV., B-1, C-III, D-II
4. A-I1. B-IV, C-111, D-I

Options :

68634073997. 1
68634073998. 2
68634073999. 3
68634074000. 4



